CATALOGUE OF BRAKE LIGHT SWITCH

Mhw no: SCD0002
Part no: FAE25050 SL161
Application/0.E. M:

Mhw no: SCD0007
Part no: FAE24010 SL1T1
Application/0.E. N:

&

FORD D27Z-13480-A ALFA ROMEO 607 018 52 et
G M. 91 112 374/96 052 137 CITROEN ZF-04. 345. 643/ZF-04. 345. 645 “
HYUNDAI 93810-11002 FIAT 3900908/4035421/82304822 p
NAZDA 0 233-66-790/0 727-67-210 PEUGEOT 4534.06
0 730-67-210A/D272-13-480A SKODA 115-939-070/6U0 945 5158
MITSUBISHI ~ WB-113078/MT-138980 SUZUKI 37740A66010/37740B66010
SUZUKI 37740-66010/37740-66040 V. W 6K0 945 515
C@ 14 % M10X1.25 [a dmm ﬁ ‘[ 1 | C@ 19 % M12X1.5 Ea.ss@ T $ i‘

Mhw no: SCD0003
Part no: FAE40840 RS126
Application/0.E. M:

TOYOTA 84210-60021
84210-01010
6. M 94840339

Mhw no: SCD0008S

Part no: FAE24160 SL170

Application/0.E. N:
1478 163/1 572 591
6 008 639/6 088 639
71BB-13480-AC
71BB-13480-AD
D2RY-13480-A
EORZ-13480-A

C@ i % M18X1.5

[N}

MOTORCRAFT _SHE 10478
C(@ % M12X1.75 E.35B

Whw no: SCD0004
Part no: FAE41030
Application/0.E. M:

Whw no: SCD000Y
Part no: FAE24450 SL183
Application/0.E. N:

FIAT 4132067 G. M. 94 118 754/94 362 930
4209747/4356374 |SUZU 8-94118-754-0/1

PSO-POLSKI 018885 8-94362-930-0

SEAT FG-952500. 00 NISSAN 25320-01B00
FG-952500. 01 25320-21P00/75A00 f/
FU-952000. 00 OPEL 12 40 552
§A-952500. 00 SUBARU 83311-AA010

C@ 22 % M14X1.5 Esasﬂ | } | C@ 14 % M10X1.25 i f |

Mhw no: SCD0005
Part no: FAE24330 SL152
Application/0.E. N:

Mhw no: SCD0010
Part no: SL162
Application/0.E. N:

M

&5

¥
r

DAIHATSU 84340-87601 G. M. 94 840 335/94 849 185/94 851 307
MITSUBISHI ~ WB-113080/MB-196506 NAZDA B 001 66 490/B 001 66 490A
SUBARU 68214-0140/78331-1000 B 002 66 490/B 001 66 490A
TOYOTA 84340-12020/84340-20010/11 | MITSUBISHI  MR-122560
84340-22040/60 L ! TOYOTA 84340-01010/28010
84340-22071/72 84340-30030/32010
84340-35010/84340-36030 V.W. J84 340 300 30
£ 14 % M10X1.25 ; j C@ 14 % M10X1.25 Es.ssﬂ f [

Mhw no: SCDO0006
Part no: FAE25080
Application/0.E. M:
G. M. 94021129

94026196
HONDA 35350-634-003
1SUZU 5-8244-0015-0

8-94156-821-0
9-8275-0619-0
9-9412-0250-0

Mhw no: SCD0O011
Part no: RS115
Application/0.E. M:
VOLKSWAGEN

£ 14 % M10X1.25 a dmm %

6@19 % M12X1.5 Bﬁﬁﬁ

http://www.okaymotor.com



CATALOGUE OF BRAKE LIGHT SWITCH

Whw no: SCD0012
Part no: RS124
Application/0.E.N:
DAEW00

OPEL

Mhw no: SCD0020
Part no:
Application/0.E. M:

C@rs % M12X1 5

C@ 24 % 1/8-2TNPT

Aol

Mhw no: SCD0O015

Part no:
Application/0.E. M:
ALFA

Mhw no: SGD0021
Part no: FAE21210 SL159
Application/0.E. M:

AUDT-VW 113 945 §15 D
113 945 §15 6
MERCEDES 000 545 55 09

Af]

C@ 2 % M14X1.5

| S

C@ 2 @ 6.35

% M10x1.0
con

NN

Mhw no: SCDOO16

Part no: FAE40600 RS158

Application/0.E. M:

RENAULT 77 00 778 780
77 00 802 640

Whw no: SCD0022
Part no:
Application/0.E. N:

C@ 24 % M14X1.5

O

C@ 24 % M18X1.5 El ] 35@

Whw no: SCDO017

Part no:
Application/0.E. N:
FIAT 4 165 210
ROVER 545280

Nhw no: SCD0023

Part no:

Application/0.E. M:
MERCEDES-BENZ 000 545 87 14

C@ 2 % M10X1.0 EG.:’-SE

T

0.45Mpa

C@ % M24X1.0 D S ﬂ

Nhw no: SCD0018
Part no:
Application/0.E.N:

Mhw no: SCD0024
Part no:
Application/0.E. M:

% M10X1.0

T

(NG|

0.45Mpa

C@ % T

http://www.okaymotor.com




CATALOGUE OF BRAKE LIGHT SWITCH

Mhw no: SCD0025

Part no:

Application/0.E. N:

VOLKSWAGEN 251 919 372
251 919 372A

Whw no: SCD0030
Part no:
Application/0.E. M:
BEDFORD

C@ 22 % M14X1.5 BG.SSB

C@ 2 % M10X1.0 E E.SEB

Mhw no: SCD0026

Part no: FAE24230 SL174

Application/0.E.N:

RENAULT 77 00 700 414
77 00 732 503
77 00 349 273

Whw no: SCD0031
Part no: FAE24080
Application/0.E. M:
CITROEN 96. 005. 949
96.039. 131
MOTOR LBERICA 01500315-0 01501024-0
PEUGEOT 4534.02/04/13
RENAULT 7700 511 899
77 00 544 807
77 00 562 527

qzﬁii - E%g MIBX1 5 I!iii!m

C@ 14 % M10X1.0 Ela.asﬂ

Mhw no: SCD0027
Part no:
Application/0.E. N:

Whw no: SCD0032

VOLKSWAGEN

Part no:
Application/0.E. N:
MITSUBISHI ~ MR-122560
KIA 080 150 64 908

< |8

{:KE; 14 E%g M10X1.25

Ao

Mhw no: SCD0028
Part no:
Application/0.E. N:
B.M.W 613
613

83 6

113
113
613183
042

18 207
18 208
60 420
0

Whw no: SCD0033
Part no:
Application/0.E. M:
NISSAN

|8 -~ | [eo)

{:(§;14 E%g M10X1.25 1""}

Mhw no: SCD0029
Part no: FAE41130
Application/0.E. N:
MERCEDES 000 545 70 09

Whw no: SCD0034

Part no: FAE24081

Application/0.E. M:

CITROEN 96.001. 647
96.005. 949
96.039. 131

PEUGEOT 4534.02/04/13

RENAULT 7700 511 899
77 00 562 527
77 01 348 722

E‘Ex\zwi‘

C@ 57 M27X1.0 presn
2 M16X1.5

& 14 % M10X1.0 Elﬁ.ﬁﬂ

http://www.okaymotor.com



CATALOGUE OF BRAKE LIGHT SWITCH

Mhw no: SCD0035
Part no:
Application/0.E. M:
PEUGEOT

Mhw no: SCD0040

Part no: FAE40530 RS104 KB-88

Application/0.E. N:

NISSAN 32005-K0200
32005-K1000
32005-K1001
32005-K1002
32005-K1004
32005-K2100

SUBARU 32005-KA080

& 27 % M18X1.5

Al

[N

£ 19 % M14X1.5 ﬁ 4mm ﬁ

EN

Whw no: SCD0036

Part no:
Application/0.E. M:

Mhw no: SCD0041
Part no:
Application/0.E. N:

C@ 24 % M16X1.5

A-f

C@,zz % M16X1.5

Whw no: SCD0037

Part no:
Application/0.E. N:

Mhw no: SCD0042
Part no: RS103 KB-89
Application/0.E. M:
NISSAN

C@,w % M12X1.25 ‘L ] C@w % M14X1.5 ﬁxtmmﬁ i } ]"
Whw no: SCD0038 Mhw no: SCD0043
Part no: Part no:
Application/0.E. N: Application/0.E. N:
MITSUBISHI ~ MD701797
C(@w % M12X1.25 L ]’ C@ 19 % Mi2X1.5 ﬁdmmﬁ 1]
Whw no: SCD0039 Mhw no: SCD0044
Part no: Part no: KB-315
Application/0.E. N: Application/0.E. N:
C@'“ % M14X1.5 1 d@n % M14X1.5 ﬁ#mmﬁ {a. |

http://www.okaymotor.com



CATALOGUE OF BRAKE LIGHT SWITCH

Mhw no: SCD0045
Part no: KB-313
Application/0.E. N:

Nhw no: SCD0050

Part no: RS128 KB-637
Application/0.E. M:
TOYOTA 84210-12040

AC

% M14X1.5

B8

C@ i % M18X1.5

Nhw no: SCD0046
Part no: KB-681
Application/0.E. M:
MITSUBISHI  MD703797

Whw no: SCD005T
Part no:
Application/0.E. M:

d@, 19 % M12X1 5 E! 4rom ﬁl

C@ 32 ‘El. 6.35 E

% 1/4GAS

0.065Mpa

Whw no: SCD0047

Part no: FAE40810 KB-614

Application/0.E. N:

NISSAN 32005-51A00
32005-51A10
32005-M8005
32005-65100
32005-D1206

Nhw no: SCD0052
Part no: KB-330
Application/0.E. M:

Cﬁ@ﬂ

E%g M14X1.5 @I::)
(B

C@ 24 % M18X1.5 5' 4mm ﬁ

Mhw no: SCD0048
Part no: KB-314
Application/0.E. M:

Whw no: SCD0053

Part no: FAE40491
Application/0.E. M:

FIAT 9633875580
PEUGEOT/PSA  2257.43
TOYOTA SU001-00467

&@H

% M14X1.5

A

C(@ 2 % M14X1.5 @

Whw no: SCD0049
Part no: FAE40510
Application/0.E. M:

DAEW00 96192077
90245033
G. M. 90245033
OPEL 1239196
1239266
SAAB 42 32 666
91 85 908

Mhw no: SCD0054
Part no: FAE24310
Application/0.E.N:

G. M. 90 504 499
90 196 375
OPEL 1240591

% M12X1.5

< [§  |A-A

http://www.okaymotor.com



CATALOGUE OF BRAKE LIGHT SWITCH

Mhw no: SCDO0055

Part no:
Application/0.E. M:

Whw no: SCD0O0G0

Part no: FAE40640 RS141
Application/0.E.M:

B.M.W 23 141 221 706

C@:s % YIEX24UNF Ba.ssﬂ

C@, 2 % M12X1.5

=)

|

Mhw no: SCD0056
Part no:
Application/0.E. M:

Nhw no: SCD0061

Part no: FAE40650
Application/0.E. M:
CITROEN 96.018. 108
PEUGEOT 2257.33
PSA 2257. 41

B

C@zz % M14X15

C@ 19 % M14X1.5 "

[N

Whw no: SCDO057

Part no:
Application/0.E. M:

Whw no: SCD0062
Part no: FAE40120
Application/0.E. M:
ROVER GROUP  PRC 1039
RTC 4512
TALBOT 20298100
71801170

C@N % M10X1.0 E 6.35

C@ 2 % M16X2.0

A

Mhw no: SCD0058

Part no: FAE40492
Application/0.E. M:

FIAT 9633875680
NISSAN 32005-6F901
PEUGEOT/PSA  2257.42

Nhw no: SCD0063
Part no: SL157
Application/0.E. M:
TOYOTA

C@ 2 % M14X1.5 @

d(; 26 % 1/8X28PT

R

Mhw no: SCD0059
Part no: KB-673
Application/0.E. M:

Mhw no: SCD0064

Part no:
Application/0.E.N:
VN 084 919 521

C@Eﬁ % M14X1.5 @

£ 19 % M14X1.5

A=

http://www.okaymotor.com



CATALOGUE OF BRAKE LIGHT SWITCH

Mhw no: SCD0065

Part no: FAE40610

Application/0.E. M:

MERCEDES-BENZ 000 545 50 11
344 545 01 06

M24X1.0
M18X1.5

Mhw no: SCD0070

Part no:
Application/0.E. M:

0.18Mpa 2 ‘ | ext.0 ‘ 6.35 ’

Mhw no: SCD0066

Part no: SL143
Application/0.E. M:
AUDI-VW 113 945 515H

BOSCH 0344 004 010
MERGEDES 000 545 22 09
SKODA 193-595-294

M10X1.0 ‘

Mhw no: SGDOOT71
Part no:
Application/0.E. M:

0.5Mpa 25 3/4X16UNF

6.35 ’

Nhw no: SCD0067

Part no: FAE40300

Application/0.E. M:

AUDI-VH 014 919 361
084 941 521

M12X1.5 ‘

Nhw no: SGD0O72

Part no: FAE41090 RS137

Application/0.E. M:

CITROEN 91.513. 244
91.514.017/733

PEUGEOT 2257.117

RENAULT 77 00 591 730

77 00 732 506
77 01 348 716/77 02 112 857
VOLVO 3416102-6
‘ 19 | 2 M4xis Smm

Whw no: SCD0068
Part no:
Application/0.E. M:
TOYOTA

M12X1.5 ’

Whw no: SCD006Y

Part no: SL159

Application/0.E. M:

AUDI-VN 113 945 515D
113 945 515 G

MERCEDES 000 545 55 09

1/8X27TNPT

Mhw no: SCD0073

Part no: FAE41080

Application/0.E. M:

RENAULT 77 00 575 997
77 00 638 949
77 00 640 499
77 00 732 507
77 01 348 191

M16X1.0 ‘ Smm ’

‘ 27
22

Mhw no: SCD0074

Part no: FAE24300 SL176
Application/0.E. N:
DELCO REMY 1 533 565

1 533 656
LAND ROVER ~ 13H3735L
560864
ROVER GROUP  13H 3735
TALBOT 7124 05 68
_ UNIPART 13H 8735
v ‘ 112X20UNF 835

http://www.okaymotor.com



CATALOGUE OF BRAKE LIGHT SWITCH

Mhw no: SCD0076
Part no:
Application/0.E. M:

Whw no: SCD0081

Part no:
Application/0.E. M:
TOYOTA 84380-35010

84380-20010

M27X1.0
A % M12X1 5 ﬁ“"‘"‘ﬁ

TN |

0.6Mpa

& % MEX1.25

i

Whw no: SCDOO77

Part no: RS128
Application/0.E. M:
TOYOTA 84210-12040

Mhw no: SCD0082
Part no:
Application/0.E. M:
TOYOTA

£ 27 % M18X1.5

{:(EZ - M27X%1.0
3 M16X1.5

A g

Mhw no: SCD0078
Part no:
Application/0.E. M:

Whw no: SCD0083

Part no: FAE40440
Application/0.E. M:

MAN 81.25505. 0794
SCANIA 1.303. 472
PAGASO 194, 562

IF 0501203944

d@ 22 % M14X1.5 6.35!:-‘5_'I

C@ o= M27X1.0
2 M18X1.5

)= [

Mhw no: SCD0O079
Part no:
Application/0.E. M:
MITSUBISHI ~ NC 840590
NISSAN

Mhw no: SCD0084

Part no:
Application/0.E. M:
KIA KKY03-17-460

KKY03-17-4608

C@ 24 % M14X1.5 B—' 4mm El T 1 ] C@ 24 % M14X2.0
Whw no: SCD008O Whw no: SCDO08S
Part no: Part no:
Application/0.E. M: Application/0.E. M:
NISSAN 32005-L1100 BOSCH 0344 400 010
MERCEDES 000 545 45 09
000 545 60 09
364 545 74 09
@ 2 % M14X1 5 B §.35 El et C@ 2 o ﬁ 4mm ﬁ 0.55Mpa

http://www.okaymotor.com



CATALOGUE OF BRAKE LIGHT SWITCH

Whw no: SCD0086

Part no: FAE41130

Application/0.E. M:

MERCEDES 364 545 71 09
000 545 70 09

Mhw no: SCD0095

Part no:
Application/0.E. M:
RENAULT 50 00 791 108

27 ’ B WX | B oamm B ‘ 2 ‘ 112X20UNF 6.35 ‘ 0.6Mpa
Mhw no: SCD0087 Mhw no: SCD0096
Part no: Part no: GB-352
Application/0.E. M: Application/0.E. M:
2 ’ M14X1.5 ’ 8.35 ‘ | B wexs | B 4nm E
Mhw no: SCD0092 Whw no: SCD0097
Part no: GB-S3 Part no: GB-996
Application/0.E. M: Application/0.E. M:
19 M14X1.5 ‘ ‘ 2% ‘ M18X1.5 ‘ = dmm ‘
Whw no: SCD0093 Mhw no: SCD0098
Part no: GB-HO4L Part no: FAE40835
Application/0.E.N: Application/0.E. M:
G. M. 9204032
OPEL 4700385
SUZUKI 37610-76G10
2 ’ M14X1.5 il ‘ ‘ 21 ‘ M14X1.5 —_
Whw no: SCD0094 Mhw no: SCD0099
Part no: Part no: FAE40960
Application/0.E. M: Application/0.E. M:
LAND ROVER  PRC 2911
LUCAS SMB485
155 3BX16UNC 6.35 ‘

24 | B2 omioxto §.35 0.56Mpa
b con

http://www.okaymotor.com




CATALOGUE OF BRAKE LIGHT SWITCH

Mhw no: SCDO100

Part no:

Application/0.E. M:

Mhw no: SCD0105

Part no: FAE24440
Application/0.E. N:
GITROEN 96 040 821
FIAT 9619 403 780
PEUGEOT 4534. 11

C@ 14 % M10X1.0

ﬁ 4mm

Nhw no: SGDO101
Part no: FAE24710 SL208
Application/0.E. M:

Whw no: SCDO106
Part no: RS§108
Application/0.E. M:

LAND ROVER  PRC 4297 TOYOTA 84210-14010
LUCAS 344 35A
349 33D
SMB 419
-
C@ % /2X20UNF g I C@zz % M14X15 ﬁlammﬁ 1.

Mhw no: SCD0102
Part no: FAE40270 RS118
Application/0.E. M:

PEUGEOT
SUZUKI

TALBOT

22517.12
37610480042
37610-80042
7910002503

Whw no: SCD0O107

Part no: RS114
Application/0.E. M:

NAZDA 0376 17 640A

@ 22 % M14X1.5

A [

L

C@ 22 % M12X1.75 E 4mm ﬁ

Whw no: SCDO103
Part no: FAE21050
Application/0.E. N:

PEUGEOT
RENAULT

4608.13
4608.15
08 54 250 300
77 01 348 720

Mhw no: SCD0O108

Part no: FAE40480 RS133

Application/0.E. M:

FIAT 5997 492
7580 599

d@ 2 % 1/2X20UNF

A A

[N

£ 22 % M14X1.5

[N

Whw no: SCD00104
Part no: FAE24220 SL201
Application/0.E. M:

RENAULT

77 00 785 258
77 00 849 824

Mhw no: SCD0109

Part no: FAE24410 SL185

Application/0.E.N:

FIAT 7627 401
7682 536
46530958

ALFA ROMEO 608 051 25

& % M16X1.5

BN

L |§ =

NN

http://www.okaymotor.com

-10 -



CATALOGUE OF BRAKE LIGHT SWITCH

Whw no: SCDO110

Part no: FAE24350 SL166
Application/0.E. N:
NISSAN 25320-H8500

Mhw no: SCDO115
Part no:
Application/0.E. N:

C(@m % M10X1.25 B 635 E

% M14X1.5 E 6.35 B

Nhw no: SCDO111

Part no:
Application/0.E. M:

Mhw no: SCDO116

Part no:
Application/0.E. M:
KIA KKY03-17-4608

C@E? % 1/8GAS ? M4 g L 0.65Mpa d@y % M14X2.0 @

Whw no: SCDO112 L Mhw no: SCDO117

Part no: Part no:

Application/0.E.N: Application/0.E. M:

TOYOTA 84340-87720 RENAULT 77 00 831 090
cj@;14 Egl M10X1.25 ‘Iﬂ:l [ 1

Mhw no: SCDO113 Mhw no: SCDO118

Part no: Part no:

Application/0.E. M: Application/0.E. M:

RENAULT 77 00 427 640A

C@ 24 % M16X1.0

AR

Mhw no: SCDO114
Part no: FAE40520 RS102
Application/0.E. N:
FIAT-LANCGIA 46410523
1588520
1615564
60806108
60810259

ALFA RONEO

Mhw no: SCDO119

Part no:
Application/0.E. M:

&:os % M14X1.5 .

|

C@ 27 % M12X1.25

g8

|

0.5mpa

http://www.okaymotor.com

-11 -



CATALOGUE OF BRAKE LIGHT SWITCH

Whw no: SCD0120
Part no:
Application/0.E. N:

6

Mhw no:

SCD0125
Part no:

Application/0.E. M:

Whw no: SCDO0122
Part no:
Application/0.E. N:
RENAULT

C{g:e % M16X2.0 E §.35 B L C@u % M14X1.5 Bmm% Lo 1
Mhw no: SCDO121 : Mhw no: SCD0126 .
Part no: Part no:

Application/0.E. N: Application/0.E.N:
NISSAN 25320-22001
&,29 % 14-16NPT ﬁdmmﬁ 9 | 0.03mpa C(@n % M14X2.0 1

Mhw no:

Scbo127
Part no:

Application/0.E. M:

C_(@n % M14X1.5 :_ : C@“ % M14X1.5 | X |
Mhw no: SCD0123 Mhw no: SCDO128
Part no: Part no:
Application/0.E. M: Application/0.E. M:

@:1 % M14X1.5 " C@w % M12X1.25 ﬁ&mml@ i ; T

Mhw no: SCDO124
Part no: FAE40660 RS130
Application/0.E. M:

SEAT-VN
ROVER GROUP

020 945 415A
UNB 10003

Mhw no: SCD0129
Part no: KB-80
Application/0.E. M:

.
AC=

C@IH

% M14X1.5

B8

http://www.okaymotor.com

-12 -



CATALOGUE OF BRAKE LIGHT SWITCH

Mhw no: SCDO130
Part no: KB-81
Application/0.E. N:

f

Nhw no: SCDO135
Part no:
Application/0.E. M:
VDo 112/5/11

C@ 19 % M14X1.5 ﬁ 4mm ﬁ T__\_T

&2?

77

1.5£0.2bar

Mhw no: SCD0131

Part no:
Application/0.E. M:

2

E%g M10X1.0
Whw no:

SCD0136
Part no:
Application/0.E.N:

0

C(@ b2 % M18X1.5

M22X1.5
M14X1.5

Nhw no: SCD0132

Part no:

Application/0.E. M:

BOSCH 0343 102 009

V.H 113 941 521
211 941 521

Mhw no: SCDO137

Part no:
Application/0.E. M:

d@ 22 % M18X1.5 B 6.35 EL

M27X1.5
M18X1.5

Lo | B

FefhAl

Mhw no: SCDO133

Part no:

Application/0.E. N:

V.W-Truck 113 941 521
211 941 521

Mhw no: SCDO138

Part no:
Application/0.E. M:

(:fgz 2 Egg M18X1.5 Ijl 6.35 Iil L]

M27X1.5
M18X1.5

C@:w %

Aefrfl

Mhw no: SCD0134

Part no:
Application/0.E. M:

Mhw no: SCDO139

Part no:
Application/0.E. M:

1.1bar

E%g M10X1.0 ETL 6.35 Ijl T |

C@ 32 % M14X1.5

A fl

0.65bar

http://www.okaymotor.com

-13 -



CATALOGUE OF BRAKE LIGHT SWITCH

Mhw no: SCD0140

Part no:
Application/0.E. M:

7 || M12X1.5 8.3 ‘

“Hw

r

‘ 0.8bar

Mhw no: SCDO141

Part no: 7.6010 FAE40310

Application/0.E. M:

AUDI-V.W 014 919 361
014 941 521 1
084 941 521
251 941 521

(AUDI\GOLF\JETTA\PASSAT\SANTANA\POLO)

2 M18X1.5 6.35

Mhw no: SCD0142
Part no: 7.1007
Application/0.E. M:
CITROEN 4534 02

79 100 339 31
PEUGEOT 4534, 02
2051305\309\504\505\604 )
TALBOT 79 100 339 31

14 = M10X1.0 6.35 ‘

Whw no: SCDO144
Part no:
Application/0.E. N:

24 =l MX1s = d4mm

http://www.okaymotor.com

-14 -



CATALOGUE OF BRAKE LIGHT SWITCH

Mhw no: SCD00O1 Whw no: SCD008S
Part no: Part no:
Application/0.E. N: Application/0.E. M:
$
C
‘ 14 ’ om0 ’ = 4mm ‘ ‘ ‘
Whw no: SCD0013 Mhw no: SCD008Y
Part no: Part no:
Application/0.E. N: Application/0.E. M:
VOLKSWAGEN 251 919 372
251 919 372A
32 M29X2.5 ‘ ‘ ’ :
Mhw no: SCD0014 Whw no: SCD0090
Part no: AAS0283 Part no:
Application/0.E. N: Application/0.E. M:
EW (-] [ Jei (i
Mhw no: SCDO015 Whw no: SCD0091
Part no: Part no:
Application/0.E. N: Application/0.E. N:

Whw no: SCD0075 Nhw no: SCDO0143

Part no: FAE62060 Part no:
Application/0.E. M: > Application/0.E. M:
NISSAN-IBERICA E-13742 VOLKSWAGEN
PEUGEOT 6338. 05/06
RENAULT 77 00 557 581

77 01 348 301/303
RV.I 77 00 646 778

7701 016 010
TR 100846/100990/101423/101424

‘ ‘ 5mm ‘ 3 | = Masx25

http://www.okaymotor.com -15-



